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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk    

iz'u 27 gSaA 

Please make sure that the printed pages in this 

question paper are 15 in number and it contains      

27 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : D 

MAP 
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•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 

vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 

vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 

iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 

Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 
entertained after examination. 
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    &&&&    

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

 (iii) iz'uksa ds mÙkj muds vadkuqlkj nsaA  

 (iv) iz'u la[;k 27 fo'ofo'ofo'ofo'o ds ekufp= dks Hkjus ls lacaf/kr gSA 

 (v) fo'ofo'ofo'ofo'o ds ekufp= dks Hkjdj viuh mÙkj&iqfLrdk ds chp 

etcwrh ls ck¡f/k,A 

 (vi) ekufp= ij viuh mÙkj&iqfLrdk dk Øekad vo';vo';vo';vo'; fy[ksaA 

 (vii) 5 vadksa okys dqN iz'uksa esa vkUrfjd p;u iznku fd;k 

x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,ddsoy ,ddsoy ,ddsoy ,d gh iz'u  

djuk gSA 

General Instructions : –    

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated 

against it.  

 (iii) Answer questions according to their marks. 
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 (iv) Question No. 27 is related to filling the 

outline map of the World. 

 (v) After filling the map of the World it should be 

securely tied in the middle of the answer-book. 

 (vi) You must write your Answer-book Serial No. 

on the map. 

 (vii) Internal choice is given in some questions of     

5 marks. You have to attempt only one of 

the given choice in such questions. 

  1. vkS|ksfxd ØkfUr ds le; fo'o dh tula[;k fdruh Fkh \ 1 

 What was the total population of the World at 

the time of Industrial Revolution ? 

  2. Hkkjr ds fdl jkT; esa lokZf/kd izoklh gSa \ 1 

 Which State of India has maximum migrants ? 

  3. Lost+ ugj ds nks  Nksjksa ij fLFkr iÙkuksa ds uke fy[ksaA 1 

 Write the name of the two terminal ports of Suez 

Canal. 
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  4. fdl m|ksx dks vk/kkjHkwr m|ksx dgrs gSa \ 1 

 Which industry is called the basic industry ? 

  5. eqEcbZ&gkbZ dgk¡ fLFkr gS \ 1 

 Where is Mumbai-High located ? 

  6. mÙkj izns'k ds lcls cM+s egkuxj dk uke fy[ksaA 1 

 Write the name of the largest Metropolitan City 

of Uttar Pradesh. 

  7. ^uk¶Vk* (NAFTA) dk iwjk uke fy[ksaA 1 

 Write the full name of 'NAFTA'. 

  8. ekuo fodkl lwpdkad dk izfriknu dc fd;k x;k \ 1 

 When was Human Development Index created ? 

  9. iwoZ&if'pe xfy;kjs ds nks vfUre LVs'ku ds uke fy[ksaA 1 

 Write the name of the two terminal stations of 

East-West Corridor. 
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10. fuEufyf[kr esa ls dkSu&lk ,d yksxksa vkSj i;kZoj.k ds chp 

vU;ksU; fØ;k dk lokZf/kd egÙoiw.kZ dkjd gS \ 1 

 ¼d½ ekuo cqf)eÙkk 

 ¼[k½ izkS|ksfxdh 

 ¼x½ yksxksa ds vuqHko 

 ¼?k½ ekuoh; HkkbZpkjk 

 Which one of the following is the most important 

factor in the interaction between people and 

environment ? 

 (A) Human intelligence 

 (B) Technology 

 (C) Peoples perception 

 (D) Human brotherhood 



 ( 7 ) 4313/(Set : D) 

4313/(Set : D)    P. T. O. 

11. fL=;ksa esa izokl dh la[;k fdl /kkjk esa vf/kd gS \ 1 

 ¼d½ xzkeh.k ls uxjh; 

 ¼[k½ xzkeh.k ls xzkeh.k 

 ¼x½ uxjh; ls uxjh; 

 ¼?k½ uxjh; ls xzkeh.k 

 In which stream female migration is highest ? 

 (A) Rural to Urban 

 (B) Rural to Rural 

 (C) Urban to Urban  

 (D) Urban to Rural 

12. fuEufyf[kr esa ls dkSu&lk Hkkjr esa iq#"k izokl dk eq[; dkj.k 

gS \  1 

 ¼d½ f'k{kk  ¼[k½ fookg 

 ¼x½ O;olk; ¼?k½ dke vkSj jkstxkj 
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 Which one of the following is the main reason for 

male migration in India ? 

 (A) Education  

 (B) Marriage 

 (C) Business  

 (D) Work & Employment 

13. fuEu esa ls fdl izns'k esa izysf[kr izkphure uxjh; cLrh jgh   

gS \  1 

 ¼d½ àkaxgks dh ?kkVh 

 ¼[k½ fla/kq ?kkVh 

 ¼x½ uhy ?kkVh 

 ¼?k½ eslksiksVkfe;k 
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 In which of the following regions has the oldest 

well documented urban settlement found ? 

 (A) Huang He Valley 

 (B) Indus Valley 

 (C) Nile Valley 

 (D) Mesopotamia 

14. fodkl'khy ns'kksa dh tula[;k ds lkekftd <k¡ps ds fodkl ,oa 

vko';drkvksa dh iwfrZ esa dkSu&ls izdkj ds lalk/ku lgk;d   

gSa \  1 

 ¼d½ foÙkh;   

 ¼[k½ ekuoh; 

 ¼x½ izkÑfrd  

 ¼?k½ lkekftd 
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 Sufficiency of which type of resource can help to 

create adequate social infrastructure catering to 

the needs of the large population in the 

developing countries  ? 

 (A) Financial (B) Human 

 (C) Natural (D) Social 

15. fuEufyf[kr esa ls fdl jkT; esa izeq[k rsy {ks= fLFkr gS \ 1 

 ¼d½ vle  ¼[k½ fcgkj 

 ¼x½ jktLFkku ¼?k½ rfeyukMq 

 Which out of the following States has major oil 

fields ? 

 (A) Assam (B) Bihar 

 (C) Rajasthan (D) Tamil Nadu 

16. ^thoui;ZUr izoklh* vkSj ^fiNys fuokl ds vuqlkj izoklh* esa 

vUrj Li"V dhft,A 2 

 Differentiate between the 'lifetime migrants' and 

'migrants by last residence'. 
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17. cfLr;ksa ds oxhZdj.k ds D;k vk/kkj gSa \ 2 

 What is the basis of classifying settlements ? 

18. Lof.kZe prqHkqZt ls D;k vfHkizk; gS \ 2 

 What is the Golden Quadrilateral ? 

19. Hkkjr ds fons'kh O;kikj dh izeq[k fo'ks"krk,¡ fy[ksaA 3 

 Mention the characteristics of India's Foreign 

Trade. 

20. ekuo fodkl lwpdkad ds vk/kkj ij ns'kksa dk oxhZdj.k fdl 

izdkj fd;k tkrk gS \ 3 

 How are countries classified on the basis of 

Human Development Index ? 

21. [k.Mh; fu;kstu rFkk izknsf'kd fu;kstu esa vUrj Li"V djsaA 3 

 Distinguish between Sectoral Planning and 

Regional Planning. 
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22. Hkkjr esa Hkk"kk ifjokjksa ds HkkSxksfyd forj.k dk laf{kIr fooj.k 

nhft,A 5 

 Discuss briefly the geographical distribution of 

different language families in India. 

vFkokvFkokvFkokvFkok 

OR 

 Hkkjr dh tula[;k ds /kkfeZd la?kVu dh foospuk dhft,A 

 Discuss the religious composition of Indian 

Population. 

23. Hkkjr esa pk; dh Ñf"k ds fy, mi;qDr HkkSxksfyd ifjfLFkfr;ksa dk 

o.kZu dhft,A Hkkjr esa blds mRiknu vkSj forj.k dk mYys[k 

djsaA  5 

 Describe the geographical conditions required 

for the cultivation of Tea. Mention its production 

and distribution in India. 
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vFkokvFkokvFkokvFkok 

OR 

 xgu fuokZg Ñf"k ls D;k vfHkizk; gS \ blds nksnksnksnks eq[; izdkjksa dk 

o.kZu djsaA 

 What is Intensive Subsistence Farming ? 

Describe its two main types. 

24. Hkkjr esa [kfut isfV;ksa ds forj.k dk o.kZu djsaA  5 

 Describe the distribution of Mineral Belts of 

India. 

vvvvFkokFkokFkokFkok    

OR 

 Hkkjr esa ykSg-v;Ld ds mRiknu rFkk forj.k dk o.kZu djsaA 

 Describe the production and distribution of Iron- 

ore in India. 
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25. Hkkjr esa m|ksxksa dh vofLFkfr dks izHkkfor djus okys dkjdksa dk 

mnkgj.k lfgr o.kZu dhft,A 5 

 Explain the factors affecting location of 

Industries in India with examples. 

vFkokvFkokvFkokvFkok    

OR 

 ifjogu vkSj lapkj lsokvksa dh lkFkZdrk dks foLrkjiwoZd Li"V 

djsaA 

 Explain in detail the significance of Transport 

and Communication Services. 

26. ^'kksj iznw"k.k* ds dkj.k] izHkko vkSj mik;ksa dk o.kZu dhft,A 5 

 Discuss the causes, effects and solutions of 

'Noise Pollution'. 

vFkokvFkokvFkokvFkok    

OR 

 ^Hkw&fuEuhdj.k* ij ,d uksV fyf[k,A 

 Write a note on 'Land Degradation'. 
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27.    fn, x, fo'ofo'ofo'ofo'o ds js[kk ekufp= ij fuEufyf[kr dks vafdr 

dhft, % 1 × 5 = 5 

 Show the following on the given outline map of 

the World :  

 (i) eSfDldks flVh] 

  Maxico city, 

 (ii) iukek ugj] 

  Panama Canal,  

 (iii) rkjkiqj] 

  Tarapur,  

 (iv) fo'kk[kkiV~Vue] 

  Visakhapatnam,  

 (v) Hkkjr dk pk; mRiknd jkT;A 

  Tea Producing State of India. 

! 


